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CHE-09 : BIOCHEMISTRY 

Time : 2 hours 	 Maximum Marks : 50 

Note : Answer any five questions. All questions carry 
equal marks. 

1. (a) Give one or two word answers for the 
following : 	 1x6=6 
(i) The transport of molecules and ions 

across the membrane against a 
concentration gradient 

(ii) The basic protein associated with DNA 
in the nucleus 

(iii) Synthesis of RNA from DNA 
(iv) The chemical substances that elicit 

immune response in the body 
(v) Different forms of an enzyme 

catalyzing the same reaction 
(vi) A water soluble vitamin with no 

coenzyme activity 

(b) Can human beings convert glucose into fatty 
acids and fatty acids into glucose ? Explain. 	4 
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2. (a) Give the importance of initiation and 
termination codons. • 

(b) Describe the proof reading activity of DNA 
polymerase. 

(c) When a DNA solution is heated beyond a 
certain temperature, there is an increase in 
UV absorption. Explain. 

(d) List the non-covalent interactions involved 
in protein folding. 

3. (a) Write short notes on any two of the 

—
1 x2=5 following : 	 2 
2 

(i) S-phase of cell cycle 

Allosteric Enzymes 

(iii) Cellular Immunity 

(b) Give any two differences between 
degradation and biosynthesis of fats. 

(c) What are reducing sugars ? Name any two 
tests for their identification. 

4. (a) What is red drop ? Describe the role of 
photosystem II in photosynthesis. 

(b) Why is TCA cycle called the amphibolic 
pathway ? Explain. 
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5. (a) Give function of the following in brief (any 
three) : 	 2x3=6 

(i) Plasmid DNA 

(ii) Vasopressin 

(iii) Vitamin A 

(iv) Golgi Bodies 

(b) What is fermentation biotechnology ? 
Describe the production of vinegar by this 
method. 	 4 

6. Answer the following in brief : 	 .kx,5=10 

(a) What type of amino acids are responsible for 
the acid-base behaviour of proteins ? Give an 
example of each type. 

(b) Define coenzyme and give an example. 

(c) What is Km  and what does a low value of Km  
signify ? 

(d) What are the factors that control membrane 
fluidity ? 

(e) ATP is the molecule of choice for its role as 
energy carrier for different life processes. 
Explain. 
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7. (a) Describe the different mechanisms of 
antigen — antibody interactions. 	 4 

(b) Differentiate between any three of the 
following pairs giving examples : 	2x3=6 

(i) Substrate level and Oxidative 
phosphorylation 

(ii) DNA polymerase and RNA polymerase 

(iii) Competitive and Non-competitive 
inhibition of enzyme 

(iv) Codons and Anticodons 
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2. 

3. (i) 

til-1114.1 	 sSICII* 	 2 

DNA 4144-ikti 41 	 ttitT 6441 	-1 

*INR I 	 3 

DNA* f4-07:1R.  C ftrqWff Ttt 3T1 TIK 
1114 ct)k 14 UV aMhzfur 	t I 00-4itgaii 

*C-47 	 3 

511aq azfri 	tig-TRid aRT-041-4-  
31.- rOTTail V1-44 *AR 	 2 

Pi-iiliRgo 4 .14 -1*-4f *-crK 

W4R : 2 — 
2 
1 

x2=5 

(i) enlOichi 	*1.  S-5f14KI 

(1?1) 
2 

(ii) tO)Ter k•Ami 

QDI4 k 5r1=emur 

AlTra4* -144-414,tui mul-4-47-46rur*4N- 
ataT foftm

ail

I 

(TO ? 	AtTiM 

3 trfNuff *TIT WM I 

4. (W) (-no 	irda- 	 ? 514.01-.0-Efur 
6 5miki-Pcniti II *t 1#4-*1TT Y I 

(14) .4461)64) TCA 	 114 '4;(11 ? 
4 egitseil -tri* I 
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5. () icni4 feRiR 
2x3=6 

NO idwai  	?AFT RN 
ft** 3rcilq1 1cui-i *If4R I 	 4 

6. 	*44E1 grit tN7 
	

2x5=10 

iii aTm-kir(w et{cmit 	A-44 mcbit 
* N-4 3T 1 dritql41 	? 	menit 

dqwui -41-1* 

TrItgrfirff 	mrr 	 
dqmtui *P-A7 

Km  'aTT t-dr 	IT Km 	TR, AT rit 
	 ? 

$E41 i CR(111 	14q1u1 7.4 	enRcti 

few 41a 51 	f 44134 * fo7   vcr 
ATP t 	TT 	cnitui 7fg 	""d aluj 
	t I oiRs441 41i‘ I 
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-~rir u 	5  TP:4P4rW4T[3.11 tt WIT q.  

1--zrART41w 	trr-A-R I 	 4 

dqwul t4 	Pii-ifZirtgo A- We- OR' 1441  
2x3=6 

(i) 1-71TIITT-mot 	 *1(-41Q*1 

(ii) DNA tiTc-114-4'ff2iT RNA mic-nii 

Tcltfrfgr 	311:craff 

(iv) 	'MR Nicr>15i-i 
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